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b) Find the work of the {riction force
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So we see that the work of the friction force is exacﬂ3 opposite to
the work of the external T

Cﬁ The total work of both external forces is o, as the e.ﬂs’rem is not

accelerated., \n’reres,ﬁnﬁ is to check that the results for 8 = o
are. familiar..
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Calculate the work of F for the translation from A = (3W to B = (68)
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Guess with @ >0 Ov«c:l
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It is not possible to use x = & as a reference point, but A s )v-e.o_
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The Iogarifhm has, Verﬁ special propertie s

Daemi 4 (-o8-32) ¢ neervation of energy

\_& M= 02 ‘fj Mo {riction or air resistance
=90

<o et s G dgh -ugh |

= Owm
with £riction the energy

il — L

is taken out of the 533+em, thus the £riction
does the work
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K=o Potential ener&j i linear in h
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